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Test V1

Name W \‘0\ Date

Answer each question as fully as possible. Every part of every question is 4 points.

No Calculator
1. Consider the following system of equations with the solution x = 2, y = —5.
EquationAl: y=x-—7

EquationA2: y=—2x—1

a. Solve this system of equations using the elimination or substitution method.

x7=-2%~| Y=x-7
x-1=-1 V=27
3v=6 Y=-5

o

b. The following system of equations was obtained from the original system by adding a multiple of
equation A2 to equation Al.

EquationCl: y=x-—7

EquationC2: 3y =-3x-—9

What multiple of A2 was added to A1?
A2 (y:-?w 1) 2

ay=lr-2
4+

3y=-Ix-9
We add Ay do Ay toget Iy=-3x-4

c. What is the solution to the system given in part (b)?
T+ will be (.7\1‘5). We. ’\M(J\*' ‘J\M‘)&L ‘“C 50‘0-“\01\ b\[ MKH P’Y{/ﬁ
by & Lactoc.
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Solve the following system of equations by elimination. Graph the equations to verify your solution. Miark on
the graph that the solution from your graphical work matches your solution from your algebraic work.

Eiizi(zxi@ ﬁ _
O=73x-4 '
+4=3x v
B8 |
Y= 3-5
Yo

3)  Write the augmented matrix that corresponds to the following system of equations:

(x + y + z = 9
126+ 3y -z = S
E x - 2y - z = 7

4)  Userow operations to transform the matrix from Problem #3 into reduced row-echelon form to
find the solutions of the system of equations.

Lo\ 1 1 14 S Lt 19
4 ; AR &‘17\3 -
13"‘&" 1 3-15\— |0 : ‘:)cijl-?s
t-2 -7 o -3-1-lk Lo 3 -lb
] 6lou,“g 10 o 2
\ A B B \ll"l_kﬂ(l el NN
TIK’: o ! -3-B3 48 jhytRe o) 02| 215|010 2 -
o o 9§ 00 1 & | 6 0 15 (Y
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. 3 4 (-3 1
) ]
Ifmatrix 4= 6 ~2| and matrix B =§ 2 -4
10 -1 5
- -

6 3 -15 5 [ 2)

(A

12~Y| — |0 -0

% 0 -5 25 L‘)

6 . [3 4] . -1 0] _
© Ifmatrix P= . E and matrix g = 2 o) find PO.

AXA a

2

‘ pi
mz?;]' Y o) (4 8
LIZ 3 -2 5 -4

344629 V(N 4B) 5

, find 24 - 53B.

3
lo

25

3(O)+4)=F ()4 2(2)=-Y

S 21 _ ;
. BJ} find |4

7 If matrix A= {

5(30-6nQ)
543

o
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Calculator OK

A child’s piggy bank contains only nickels, dimes, and quarters. There are 75 coins in the bank,

TR

8. and the value of the coins is $7.25. If there are five times as many nickels as dimes, find the
number of coins of each type in the bank. You may solve this problem by getting the
augmented matrix in reduced row-echelon form, by using the inverse of a matrix, esbyusing

n: i ofnckes  d'H of dimes (L.#—o(l guariers

Tluns n 14+ 9 =75 (- ) Qir\
Tovelvabe: 5 +(0d+ 25y = 125 -n+bq 0
pjn. -n484 =0

| n 74
5 10 &5 Al |72
-1 5§ o0 { o

4 X 6
fo -
a=5%
- -1 - w
X( A B' ‘5 A'-IO
{:IS
9. Use linear programming to find the solution requested. It may help to graph the situation.

The area of a parking lot is 600 square meters. A car requires 6 square/mreters: A bus reguires 30
square meters. The attendant can handle only 60 vehicles. If a car is charged $2.50 and a bus §7.50,
how many of cach should be accepted to maximize income?

—

varebles. Kztfof oy

V= Yok huses
OF: 250175(4=1

CQAM"H:
bx+30y €600
cty £ 60
x20
YZ0o

50
[0 buSes
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10. Write a system of two equations in two variables where one equation is quadratic and the other is
linear such that the system has two solutions. Explain, using graphs, algebra, and/or words, why the
system has two solutions.

Y: )(‘2 ank y=X
X=X,
ot—xz"‘ S
0=x(x-1 , -0
K20 X<l dwo SO'V{'\M\S‘

11. Use a matrix equation and inverse matrices to solve the following system of equations. You must write
out the matrices you use and what you type in the calculator to find the solution.

s+ t—u=>5
2s-5t+3u=10
Ss+6t—-Tu=2

| A X s 13/3

| x2A'B > | s
12. -1/(s

2 Two softball teams submit equipment lists for the season.

Women's team {: Men's team
12 bats 15 bats
45 balls A8 balls

15 uniforms 17 uniforms

%21, each ball costs 4, and each uniform costs 330. Use matrix

Bach bat cos

multiplication to find the total cost of equipment for each team.
w M woest Meost

betbalt uai  bat] 1R 1§

{u 4 So]x}d' %5 38| 2 4?3? ‘?77
Wil 15 7
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Excellence Points.

502 -1
1. Ifmawix B=|0 3 7|, find 8.
6 -8 -4

a e 24 13
B - 42 —y7 -7
L 2o ~46

2. Solve for xandy.

1 6
x| =119

-2
3
0 3 y

BB
I N

2N+ (D=6

“1tX4b< 6
“24Xzp
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